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PART I: Short Answer

Write the most simplified answer on the space provided. (1.5 pts for each blank spac®)
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5, At what points in a plane does f(x,y) =sin™ (x> + y*) continuous? SL (y) x Y " £4d }—

6. If z= f(x,y).where / is differentiable, x = g(t),y = h(1), g(3) = 2,8 3)=5h(3)=T7, h'(3)=-—4

f.(2,7) = 6,and f,(2,7) = —8 then
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7. Let z=x>y+3y’, x=2u, y=u+v.Then Z_ U+ 3uv +bUF+bV =
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8. Consider the function f(x,y,z)=xsin(yz) then find _ 7_/_4.-

a) The directional derivative of fat (1,3,0) in the direction of v=i+2j+k is 3jve
b) The direction in which f increases most rapidly at(l, 3,0)is K. JIr ( M
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PART II: Work Out Problems
Show all the necessary

L Let f(x,y

steps and formulas clearly and completely.
)=4y’ +x? ~12y —-36y+2, Find (5 pts)
a) All critical points of .

b) Identify the point(s) at which f has relative extreme values and at which it has saddle point(s)

if any.
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ture of .
APomt (x, y) on a circle is givenby T(x,y) = 1+ xy : find the points of
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